JL_

JonosiHenue (0 ropru30HTAIIN)

Nwms:

Pemure kaxayr 3axauy.

D 12+11=

2) 15+9=

3) 480 +216=

4) 2492 =

5) 26+21=

6) 5+4=

7 3+1=

8) 742+ 139=

N 4+2=

10) 14+3=

1) 16+3 =

12) 34+3=

13) 75+10=

14) 498 +85=

15) 6+4=

10.

11.

12.

13.

14.

15.

OTBeThI

1-10
11-15
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jh JonosiHenue (0 ropru30HTAIIN) Nwmsi:

Kiwu k IpaBUJIBHBIM OTBETaM

Pemure kaxayr 3axauy.

D 12+11= 23
2) 15+9= 24

3) 480+216= 696
49 2+2= 4

5 26+21= 47
6) 5+4= 9

D 3+1= 4

8) 742+139= 881
9) 4+2= 6

10) 14+3= 17
1) 16+3= 19
12) 34+3= 37
13) 75+10= 85
14) 498 +85= 583
15) 6+4= 10

10.

11.

12.

13.

14.

15.

OTBeThI

23

24

696

47

881

17

19

37

85

583

10

1-10
10 11-15
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Cll# JonosiHenue (0 ropru30HTAIIN) Nwmsi:

Pemnre Kaxayro 3aaaudy. OTBeTHI

4 881 696 17 23
4 9 6 24 47 1.

D 12+411= 2.

2) 15+9=

3) 480 +216=

Y 2+2=

5) 26+21=

10.

6) 5+4=

7 3+1=

8) 742 +139 =

9 4+92=

10) 14+3=

OO0s1eryeHHblIii BApUAHT 1-10 [90]80[70]60[50[40[30]20]10] 0 |
E\/IaTeMaTI/IKa www.CommonCoreSheets.ru 1 0
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